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| 437,093 570,446 A 133,353
o= 307,465 203,090 104,375
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= 1,144,852 317,822 827,030
2 327,000 327,000 0
J| 437,093 570,446 A 133,353
& 307,465 203,090 104,375
Al 3,083,459 2,581,079 502,380
OIALGHER Bl SHAIY 836,227 642,550 193,677
SHAISIR MAAZHZ K& 143,080 40,000 103,080
201 Bt A | 3,080 0 3,080
01 AP 2t2ld] 3,080 0 3,080
O3 24 3,080 0 3,080
DRSS R HAAT
70,000 x1121 x4 3| 3,080 0 3,080
301 Lt A= 80,000 0 80,000
12 JIEIE2 &3 80,000 0 80,000
OTDZS(AM.BIH) 014 22 X
100,000 *8005 80,000 0 80,000
402 CIZ2tXHE0| M 60,000 40,000 20,000
02 SIZ2HCHEH A HI 60,000 40,000 20,000
OS0HXl Ot &z ALY 23 60,000,000 60,000 40,000 20,000
X AEHR A DB 23} 291,247 235,550 55,697
202 O4d] 3,240 3,600 A 360
01 2Wobl 3,240 3,600 A 360
O TotM B SHC SAAMY =X
23 3,240,000 3,240 3,600 A 360
206 I 2H| 35,057 39,000 AN3,943
01 MHZ=H| 35,057 39,000 N3,943
O 4 OIIBIUI(OIE S01XIE) =At 22
A& 13,503,000 13,503 15,000 N 1,497
O 201X QUM SASLE g
28 21,554,000 21,554 24,000 N2, 446
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301 Lt Az 127,000 97,000 30,000




2N SN
HE: S0 AW 25
xlo!

ok

SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
12 JER A3 127,000 97,000 30,000
0242 BRI (HA) Mot X
A3 100,000,0008 100,000 70,000 30,000
402 RIAX20IH 100,000 100,000 0
DIEETEEES 70,000 100,000 30,000
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23 0 0 30,000 30,000
02 BIZFHE A b 30,000 0 30,000
OBLRPSZ HB(AB4H) AY
30,0002 %2, 000 50/ 100 30,000 0 30,000
ZotaEe SRS 28 U HOSI JEDR 165,000 170,000 5,000
201 Yer2 gy 36,000 40,000 A4,000
01 A2l 36,000 40,000 24,000
O1 Yer+gt) 36,000 40,000 A4,000
> XIS B SUE R4 28
A3 36,000,0002 36,000 40,000 A4,000
301 LBB A 9,000 10,000 A1,000
10 BAAEI 24 S 9,000 10,000 A1,000
O BYE #0isJt JIzDs
23 9,000,0002 9,000 10,000 A1,000
EAEMA L ZHIXS 9,900 0 9,900
402 RIRX20IH 9,900 0 9,900
02 BIZFTHE AL b 9,900 0 9,900
OZZ0t A2X2 ZXH X2
33,000, 00024 %30/ 100 9,900 0 9,900
= 4SO AP 2,909,290 1,976,713 932,577
= 788,430 2,880 785,550
=l 327,000 327,000 0
| 300,948 479,301 ~178,353
= 205,501 118,157 87,344
Al 1,287,411 1,049,375 238,036
E4s0F ABIIEE RE 161,240 153,600 7,640
202 04t 3,240 3,600 A360
01 =2Uioibl 3,240 3,600 A360
OFasI FYH o ASIIE NS
A 3,240,0009 3,240 3,600 A360
402 RIX20IH 158,000 150,000 8,000
01 PIX=EE 158,000 150,000 8,000
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201 Yer2 Yyl 2,700 3,000 A300
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(100018) & H 2% 2,700,000 2,700 3,000 A 300
301 Lpt8azg 7,470 8,300 A830
10 EAIAHIE A= 7,470 8,300 A 830
O BOISIH 2 CAl AT 25 ANE
2% 2,700,000& 2,700 3,000 A 300
O &0 =It ol 2 & 3,240,000& 3,240 3,600 A 360
O &35 & 2= = Z2& 900,000& 900 1,000 A 100
O 2SN B0 B AHIX S
23 630,000& 630 700 AT0
AZ0F SA0 NFEA 1,800 2,000 A200
301 Lpt8asg 1,800 2,000 A 200
10 dALAHIE &= 1,800 2,000 A 200
O 4=t Jlzsu= Z2& 1,800,000 1,800 2,000 A 200
wNRRIA 365,640 292,073 73,567
Jl 255,948 204,451 51,497
= 21,938 17,524 4,414
Al 87,754 70,008 17,656
301 Et24 = 365,640 292,073 73,567
Il 255,948 204,451 51,497
= 21,938 17,504 4,414
Al 87,754 70,098 17,656
12 JIEtE 4= 365,640 292,073 73,567
Ogtn 2% =4 2 & 365,640,000& 365,640 292,073 73,567
Pl 255,948 204,451 51,497
& 21,938 17,524 4,414
Al 87,754 70,008 17,656
ENSYF 40,000 20,000 20,000
= 12,000 6,000 6,000
Al 28,000 14,000 14,000
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= 12,000 6,000 6,000
Al 28,000 14,000 14,000
CIAEET 40,000 20,000 20,000
OBE0NE XYF H 40,000,002 40,000 20,000 20,000
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402 It X201 90,000 464,850 A 374,850
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Ox=Atz EXU X 15,350,000& * 14! 15,350 0 15,350
= 15,350 0 15,350
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= 42,700 0 42,700
= 7,320 0 7,320
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Al 10,980 0 10,980
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402 PIZERHZOIH 80,000 0 80,000
2 40,000 0 40,000
= 8,000 0 8,000
A 32,000 0 32,000




SN

=4
HE: S0 3B 25
=A
/-

e B (crel @2
SN EB -GS - MBAY - BES 0 &4 o p/E-T" {imE=Eh
01 BIZFGEEXR 80,000 0 80,000
O+l RSHE XA
100,000, 0002 *80/100 80,000 0 80,000
= 40,000 0 40,000
= 8,000 0 8,000
Al 32,000 0 32,000
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O1 Ler=2H| 4,230 4,700 A470
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O1 22232 € HAl 2,040 1,240 800
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206 M=H| 27,360 30,400 A3,040
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O THS 25 YHY L YA 29 W2
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O ASAE = 23 21,060,000 21,060 23,400 22,340
O &4Xd2 Jt= 8 M=dl &FE 2,700,000 2,700 3,000 A 300
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301 et as 33,530 23,870 9,660
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9,660, 000& 14 9,660 0 9,660
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> B2 RA AN Bl JIE MAE M
b =2 23 3,600,0009 3,600 4,000 A400
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